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CLASS : XI
SUBJECT: BIOLOGY (044)

Time Allowed : 90 Min. Maximum Marks : 35
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General Instruction-

l. The question paper contains three sections.

2. Section A has 24 questions. Attempt any 20 questions.

3. Section B has 24 questions. Attempt any 20 questions.

4. Section C has 12 questions. Attempt any 10 questions.

5. All questions carry equal marks.

6. There is no negative marking for any question.
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WE-37 (Section-A)

We-3T H 24 U ¥, 39 @S ¥ TRl 20 vt & T Hifw g foRd o
UAH 20 Ul T HodATh" Tehar Q|

Section-A consists of 24 questions. Attempt any 20 questions from this section.
The first 20 attempted questions will be evaluated.

1. ICZN &1 fo=aiid &9 ¢ -

(a)
(b)
(c)
(d)

éd{"‘\l?l"lt'i hie ATh SHISTA AlHre1=R

ST hiY 3 S[AlfSTehel ATHTRI=R

ST Hhie H® S[AllfSTohdl AR

sfead e AT Sellfehal AHTeRT=R
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ICZN stands for:

(a) International code of Zymogen nomenclature

(b) International course of Zoological nomenclature

(c) International code of Zoological nomenclature

(d) Indian code of Zoological nomenclature

=9 o 9 = WHEfeT T8 © -

(a) TSHHN
(c) JufHa

Which of the following is not a pyramidine:

(a) Adenine

(¢) Uracil
el i erfer @ wied € -
(a) HREES

(c) <& (Tendon)

Muscle are joined to bone by :
(a) Cartilage

(c) Tendon
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Scientific name of wheat is :

(@)  Triticum indica (b)  Triticum felis
(c)  Triticum sativa (d)  Triticum aestivum
000 7
A
00 4 é p@
(a) (b) (c) (d)

TR fEu T HF A fahey A foreen Shamy fe@mn wn @ -

000 7
A
o 00 x4 é p@
(a) (b) (©) (d)

From the above shown diagram which represents the structure of spirilla
bacteria.

ANH RN fhg w7 o afigfed © -

(a) UI<Y (b) Hifewr

(c) HMT (d) T 9 i &
Archaebacteria are included in kingdom:

(a) Plantae (b)  Protista

(c) Monera (d) None of these
TN H HF-HH ¥ T B ® -

(a) dEIRA, YGET, a7, Ja (b) UGS, RIS, SN, s

(c) WRIEd, 9GS, Ia, ™M (d) ST, I, S
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10.

Name the different whorls of flower :

(a) Calyx, Corolla, Androecium, Bract

(b)  Corolla, Calyx, Gynoecium, Bract

(c) Calyx, Corolla, Androecium, Gynoecium

(d)  Corolla, Androecium, Gynoecium

oe o
[

T T MO & o= § HF 91 iR TaT A © -

(a) S (b) H=

(©) Fd (d) =

Which taxonomical category lies between Genus and order :
(a) Kingdom (b) Phylum

(c) Family (d) Class

T & oifieh S %k AW B -

(a) hiced o S (b) R F SN

(c) i g SR (d) THT I S

The reproductive organ of flower are :

(a) Calyx and Gynoecium (b)  Corolla and Gynoecium
(c) Calyx & Corolla (d)  Androecium & Gynoecium
Figiaeds el T -

(a)  EHIfeTSTT (b)  gTEST

(c) fRwlHmg (d) WR gl
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1.

12.

Chondrichthyes fish is :
(@)  Scoliodon (b)

(c)  Hippocampus (d)

TTfdehT F 9T Hdd ThR % -

(a) W FANH SHdes (b)
(c) U Fdsh (d)
Areolar and Adipose tissues are type of :

(a)  Dense connective tissue (b)
(c)  Muscular tissue (d)

Petromyzen

Starfish

forforer st ash

SYehll nden

Lose connective tissue

Epithelial tissue

afe et qon it vl t g ¥ f9= ' H=ifE -

(a) «fe:mme ufoml § Aferen © St sfasmen ufd o =2

(b) SfeHEl URMET T IR HI Wed AT W Y Biedl B Sl

Fagre uforl ST S W W W Siedl @ foed gg feem @

(c) =M (a)TA (b)
(d) W H g HE Fft T2

Exocrine and endocrine glands are different from each other because:

(a)  Exocrine gland bear ducts while endocrine do not.

(b)  Exocrine gland secret hormone directly to target organ by duct while
endocrine secret hormone into the fluid in which gland is situated.

(c) Both (a) and (b).

(d)  None of the above is correct.
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13.

14.

15.

16.

o o N

fofidise & @rsiedl © -

(a) TH S=g SN (b) X TH

(c) dod (d) L3 TER
Viroids were discovered by:

(a) M.W. Beijernek (b) Robert Hook
(c) Bentham (d) T.O. Diener

“Tr w9 SRTETEE § R YRR 9 S 1 & S © -

(a) TR S (b) I wae

(c) wifim S A (d) 9 s o Sl faeves

“Gemma Cup” in Bryophytes performs the function of reproduction by :
(a)  Asexual reproduction (b)  Vegetative propagation

(c)  Sexual reproduction (d) Binary fission

T g K e ¢ o Frefud wd €2

(a) HRIET d Hice™ (b) i T SR

(c) hicTeRa 9 S (d) wfced g gaa

What ‘K’ and ‘C’ denote in floral formula?

(a)  Corolla and Calyx (b)  Calyx and Corolla

(c) Calyx and Gynoecium (d) Calyx and Androecium

U MR dA U RO S99 Tk gk 9 o4t =1 @ -

(a) <l W T3 SAEW B
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17.

18.

(b) UM UcHeR SaTY] UH ARSI i of od @ weih UM KUK
T8 & 9l

(c) UMY YATHS SHam] TH AT i &I oid Saich UM HOMcHS o
o &

(d) UM AIHER SRIRE SEm] TE § Sdfeh UH HoncHs Sier] §

Gram positive and Gram negative bacteria are different from each other
because:

(a)  Both bacteria carry different charges.

(b) Gram positive bacteria actively take up gram stain while Gram
negative bacteria do not take up gram stain.

(c) Gram positive bacteria do not take up Gram stain while Gram
negative bacteria take up Gram stain.

(d)  Gram positive bacteria are not bacteria while Gram negative bacteria
are bacteria.

Y o .
M T HITHI FT U E9’ Fel ol © -

(a) TS (b) HSH

(c) WIEhiTgAl (d) IR T
Which organelle of cell is called as “Power House™ :

(a)  Plastids (b)  Nucleus

(c)  Mitochondria (d) Cytoplasm

= T8 1 St W fean T ® uE T W s weeH -

(a) Home sapiens (b) Homo sapiens

(c) Homo sapiens (d) Home sapiens
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19.

20.

21.

Given below is the scientific name of human, identify the correctly written
name:

(a) Home sapiens (b) Homo sapiens
(c) Homo sapiens (d)  Home sapiens

W % YR W BEI-BE ufEl s 8 -

(a) (FETH) HETS (b)y THT

(c) whiced (d) T 9 =i =&
Reduced leaf present at the base of pedicel of flower are termed as:
(a)  Bract (Bracteate) (b)  Androecium

(c) Calyx (d)  None of the above
i G e T e 99 (e qgei) i e | WY S € -
(a) eI (b)  HSASH

(c) TAMRREA (d) YHREA

Which bacteria found in the gut of cow and buffaloes (ruminant animals):
(a) Eubacteria (b) Methanogen

(c) Halophiles (d)  Thermophile

I 3Tl S8 B ® -

(a) SAEME AEY (b) iecie 3TEY

(c) TUIREES A&y (d) IR &Y

Amino acids are linked by :

(a)  Ionic bond (b)  Covalent bond

(c)  Peptide bond (d)  Phosphate bond
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22.

23.

24.

DNA i |1 i @il frEd hi?

(a) T goTcd (b) SL.EL 9=

(c) TRWeErRA (d) dreEa 9 foreh
Who discovered the structure of DNA?

(a) A.P. Huxley (b) J.C.Bose

(c) Aristotle (d) Watson & Crick

=8 9 I 91 FIST K1 &R T8l § -
(a) IR WR (b) &I
(c) Hdh & (d) & &'

Which of the following is not a level of organistion:
(a)  Cellular level (b) Coelom

(c)  Tissue level (d) Organ level

“ AmfTE dod-3-Sgen’’ 9§ ST = gHEd © -
(a) IR AR B

(b) IR [ Hifvere ¥ wuidia g 21

(c) T wifsprsti 1 fmio gd frog wiferpiet & favysm @ g 2

(d) TH 9 =i =

“Omnis Cellula-e-Cellula” is the statement which explains:
(a)  Cells are non-divisible

(b)  Cells are modified from pre-existing cells.

(c)  Pre-existing cells give rise to new cell by division.

(d)  None of the above.
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Te-d | 24 U ¥ (RH €@ 25 W 48)1 3H TE A feREl 20 woAl @
I EIWTI Ugel SARA 20 Y9l Rl Uodieh= TohdT SITam|

I H&A 25 9 28 H T wed ® - e (A) ¥R SRU (R) A= @ ™

SUYH fashed o1 TF9 id gL 3T TS o IR T -

(a)

(b)

(c)
(d)

SR YA T RO I T ©, 9o HRUT ATTHT Fl el T Hl

2|

SR YA qAT RO SH] T T, U1 HRO SHHYT &I F&l A& Tl
EXGIS

sfereM ¥ ©, a1 SR 36 2

AR FH B, A1 HRO FF 2|

Section-B

Section-B consists of 24 questions (S1.No.25 to 48). Attempt any 20 questions
from this section. The first 20 attempted questions will be evaluated.

Question No. 25 to 28 consist of two statements — Assertion (A) and Reason (R).
Answer these questions selecting the appropriate option given below:

(a)

(b)

(c)
(d)

Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.

Both Assertion and Reason are true and Reason is not correct explanation of
Assertion.

Assertion is true but Reason is false.

Assertion is false but Reason is true.
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25.

26.

27.

28.

29.

AfRYT : TS 9 YaM A iR Ggid gfauiea fom=m

HTOT ; h1 TOgId I8 9a0 H 9% Wl f 78 wifvrwed o fwio
%Y Bl 2l

Assertion: Schleiden and Schwann together formulated the cell theory.

Reason: Their theory was unable to illustrate the formation of new cells.

AfTeReM : HTohra | ol IRE=RT dF el 2

FRU : 3W AA H A K R 7S § W AT A S § qe i
Td s SEH g9 W@d @l
Assertion: Cockroach have open circulatory stem.

Reason: In this system blood is pumped out of the heart and the cells and
tissues are directly bathed into it.

afifener : 99 fqeial § § YR & TR Bd € difad qun g

SR : HGHl Tl & 3MHR HT Saih qferd TR 2l

Assertion: Phylum coelentrata exhibit two body form Polyp and Medusa.

Reason: Medusa is umbrella shaped and Polyp have sessile form.

fYeherd : (IFANST) T[E8d hl Tl IHAfA 2

FRU : YAl g7 98 T fHEE e A1 S g el

Assertion: Chins Rose is a bisexual flower.

Reason: Bisexual flowers are those which have either androecium or
Gynoecium.

cgsh fhT YR % TSUU hl YRfIfd el © -

(a) S (b) =g
(c) ¥ (d) =
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30.

31.

32.

Which type of pollution is indicated through lichens :
(a) Water (b) Air
(¢) Soil (d)  Sound

ITA o SHR HI hHa S ORETES & UG Bt 2, 98 € -

(a) T HenivM (b) AHE HehivH

(c) hETRIFR @ fewm

Disc like structure near the centromere is :

(a)  Secondary constriction (b)  Primary constriction
(c) Kinetochore (d)  Histone

JTeeh!, TAERN Al WWEhR Sdeh e ST S & YR & -

(a) FAST Hdas (b) ITYFk Idh

(c) Rl Tk (d) dBrER S

Which animal tissue have the types of squemous, columnar and cuboidal:
(a)  Connective tissue (b)  Epithelial tissue

(c)  Muscular tissue (d) Nervous tissue

olTeT T hIFYTHRTIST T T oflel & it 398 & -

(a) TRIShIZOYdN (b) SR

(c) HHEFAS (d) It
Red blood corpuscles are red in colour because they have:
(a)  Phycoerythrin (b) Haemoglobin
(c) Myoglobin (d) Haemocyanin
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33.

34.

35.

THAEEHd 57 9§ 57 8 f9R dadt Th O SR 9Hda 9 9
qmi o faver fran S o) 39 SEEW B-

(a) T T ¥ (b) &

(c) adqA b I (d) T J TR

Zygomorphic flower are those which can be divided equally after cutting
them only in one particular plane. Example of such flower are :

(a@) Mustard & Datura (b) Canna
(c) Both (a) and (b) (d) Pea and Gulmohar

T g A T o GET 6 fed famet g wefiia feen Smar @2
(@ GTAr A (b) AdA G
(c) Kdau: C (d Cda P

In a floral formula Androecium and Gynoecium are represented by:
(@ Gand A (b) AandG
(c) KandC (d CandP

S Geg 5 qel hfewTH T SAdhehTd ... G & TR H qrEn S

?

(a) ORI%Y (b) THRREE
(c) THMISH (d) et
The organism of phylum have the main characteristics of bearing

water vascular system and an endoskeleton of calcareous ossicles:
(a)  Porifera (b) Hemichordata

(c)  Echinodermata (d) Annelida
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36.

37.

38.

T TH TWIgT & TEa 589 g5 § IR S e 2
(a) TogHet (b) Heh
(c) hg3m (d) HRE=S

Identify the reptile which bears four chambered heart:
(a) Lizard (b) Frog

(c) Tortoise (d)  Crocodile

I SRl T el ®9 F 21, 39 Fowel H Y9 1 A °1 I HIH
-

(a) RS (b) wEEt
(c) TRNTRY (d) ol

Name the whorl of flower which is united in case of condition of fused
corolla:

(a) Calyx (b)  Petals

(c)  Anther sac (d) Embryo sac

SE e o1 W Sy fSHH R (Higd & fesd’ w1 e e -

(a) T (b) st

(c) TreH (d) TIEITSTT
Name the protist whose structure is like “Soap Case”.

(a)  Euglene (b) Amoeba

(c) Diatem (d) Plasmodium
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39.

40.

%ash & fhd o i TUl whasw ff FET A7 -

(a)
(c)

o N

UEehHIRIHTS (b) dAEISIAMETHIS

o o o n

ERICALIHEEE (d) HERMEEEIS

Which class of fungi is also called as imperfect fungi —

(a)
(©)

o o

Ascomycetes (b) Basidiomycetes

Deuteromycetes (d) Phycomycetes

fftera ufae, aforg ufiaed 9 3/ © e -

(a)

(b)

(c)

(d)

fAfssrg aftasT o ATP =nfeu wafew wfehg uftasd & ATP &Y

ElEY

fAferg gfees ® ATP =& =nfew Sefer wieha uResd § ATP

ElEY

o~ o . A . o . . o .
fftoha aReed o o] ¥ca S=a digal ¥ =1 digar § 7fq &

SEfch Wichd UREeA H 70 = disal ¥ S=d Wixdl i W o

qfiaed & T 2

b d ¢ A

Passive transport and active transport are different from each other because:

(a)
(b)

(c)

(d)

Passive transport need ATP while active transport does not need ATP.

Passive transport do not require ATP while active transport requires
ATP.

In passive transport molecules always moves from their higher to
lower concentration but in active transport molecules can move from
the lower concentration to the higher concentration.

Both b and ¢ are correct.
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41.

42.

43.

FIRTRT o A G 7 T & -

(a) TEAEES (b) ~TEHREM
(c) WIEhITgn (d) adA ¢ A
Which organelles of cell are semi-autonomous :

(a)  Plastids (b) Lysosomes
(c)  Mitochondria (d) Botha&c
39 UTft kT A9 wdrEr s Ufese § 99 S oehdl © -
(a) RIS ueft (b) et ueft
(c) ¥4 ueit (d) wrEfRaRa
Name the muscles which are voluntary and got fatigue :
(a) striated muscle (b)  smooth muscle
(c) cardiac muscle (d) myofibril
fermenteti 1 el ® -

(a) TAIHIRH a9 § U H

(b) TR HIWU HEA

(c) IR § S 1 WA oI
(d) HIfSTeRT T TR&T <1
The function of vacuole is:

(a)  To help in synthesis of glycoprotein.

(b)  Performs photosynthesis.

16
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44.

45.

46.

(c)  Maintain water balance is cell.

(d)  To provide protection to cell.

Sk | o el g<iedl 7 AW SdE S &Ry O 9 W9 8 S e
(a) €= (b) THIEEH

(c) hsh 5A d SR

Name the material which 1s found in nucleus and stained by a basic dye:

(a)  Histones (b)  Chromatin

(¢)  Nucleoplasm (d) RNA

‘AR RIEST! wEshifadr 7 -

(a) hol o Y (b) whash o foHETd

(c) <hdeh 9 FATHRIZE (d) wa® 9 dfeaged

“Mycorrhiza” is symbiotic association of :

(a)  Fungi and Algae (b)  Fungi and Bryophytes
(c)  Fungi and Gymnosperm (d)  Fungi and Angiosperm
TR SPIG T i | a7 ATgis TEerdiehtor oY Fehdl ©-

(a) TR (b) eI
(c) HEHRAT (Mycoplasm) (d) T 9 =i

Which class of kingdom Monera can fix nitrogen:
(a)  Archaebacteria (b)  Eubacteria

(c) Mycoplasma (d)  None of the above
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47. vaArTRT qon fedarted Afeertst § 9 91 Sde 9 <l © -

(a) A Ykl FHdh (b) EIH IYhcll Iidoh

(c) TeHHt IUha Hah (d) TfSA ST Fash

Which tissue lines Bronchioles and fallopian tubes:

(a)  Simple epithelial tissue (b) Compound epithelial tissue

(c) Ciliated epithelial tissue (d)  Glandular epithelial tissue
48.  SoTel ISt T w9 i H @ % € -

(a) i G (b) OT=H

(c) ScHsH (d) fmE=m

What is the function of flame cells in platyhelminthes:

(a) Bioluminiscence (b)  Digestion

(c)  Excretion (d)  Fertilization

@s-9 (Section-C)
-9 ¥ e 12 W fau i €, Rl 10 & sw s

Section-C contain 12 questions attempt any 10 questions.

Y IMTRA U9 W& 49 H 54 o B

Case based question are from Question No0.49 to 54.

R
I
l
| |
SR Jeiride
(STl w1 31T (S Sufeer)
I
gfﬂl it
| |
fods IIre
(v@g 3ufee) AR
i | (. feer)
it |
1. HEFRAEE
1. gl o
2. sffeaefs 1. TR (ITF=R)
2. fefean (whgy)
3. e
4. Trefifern (= a)
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Vertebrata

Division
|
| I
Agnatha Gnatostomata
(lack jaw) (bears jaw)
Super Class
| | |
Pisces Tetrapoda
(bear fins) (bear limbs)
| |
Class Class Class
1. Cyslostomata 1. Chondrichthyes 1. Amphibia
2. Osteichthyes 2. Reptilia
3. Aves
4. Mammals

49. o G T Stenedist weferal o T B -

(a) 3TH UY ek B R

(b) 3TH 91g I B 2

(c) TTh! o=l U HEEigs o JHEe Yok B B

(d) I T gl TEUNT S YRR & Sl § el 2l

Osteichthyes fishes do not have the feature of :
(@)  They have placoid scales.

(b)  They have air bladder.

(c)  Their skin bear cycloid and ctenoid scales.

(d) It include marine and fresh water fishes.

50. T8 9 fow g & g9 ° o YIS U S ® -
(a) HGHE (b) AR HSAl
(c) He® d) o=
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51.

52.

Which organism have three chambered heart:

(a)  Cockroach (b)  Star fish
(c) Frog (d) Lamprey
STt Shat @ oref 7-

(a) o Sg St §H Sorarg | & ®d 2l

(b) @ Sfta S 7 YRR 1 aqHH A 18T R wWeRd|

(c) @ g S 39 YRR &1 qroee FEfa o a2l

(d) o g S ¥9 Sorag | ®d

Poikilotherm organism can be defined as :

(@)  The organism which do not inhabit in even weather.

(b)  The organism which cannot regulate their body temperature.
(c)  The organism which can regulate their body temperature.

(d)  The organism which inhabit in even weather.

Ul % ®F W UR T S §-
(a) STIUI] (b) TBUR
(c) WHUR (d) 3T 9 B &l

Which limbs of bird are modified as wings:
(a)  Forelimb (b) Hind limb
(c) Middle limb (d)  None of the above
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53.

54.

55.

56.

el USel % ®Y H YN SH o adlee 7 -

(a) TEHATSH (b) = M

(c) B frw (d) TE =g HSa
The vertebrate which exhibit ectoparasitism :

(@)  Scoliodon (b)  Whale shark

(c) Hag fish (d)  Hippocampus

AgySiah AU g sl MM SdisU -

(a) " (b) <

(c) widivg (d) el

Egg laying mammal is:

(a) Kangaroo (b) Camel

(c)  Platypus (d) Catla
frfafaa & 9 om eifter & eifey @ Siga © -

(a) TH (b) ferme

(c) =M (d) SYhell Sdeh
Which of the following joins Bone to Bone:

(a) Blood (b) Ligament
(c) Neuron (d)  Epithelial tissue

59 g1 A = vgfeal it § 9% I shednd ©-
() T (b) TR
(c) deruder™ (d) drciiuderd
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57.

58.

59.

The flower bearing five petals are called as:
(a)  Tripetalous (b)  Tetrapetalous

(c) Pentapetalous (d)  Polypetalous

N

qiehiifesh HIf¥TRT o Hgh & TH W el © -

(a) HfRTERES (b) EaEH

(c) IR T (d) oI e
Inspite of Nucleus Prokaryotic cells have :

(@) Nucleoid (b) Ribosome

(c) Cytoplasm (d) Plasma Membrane

Y

~__n c . NN
hictioH FIEH 1 faed Hepfad G 1 @S & a1 o= € -

(a) et T (b) ST qHEEA

(c) .. 99 (d) sTmEvee

The triple helical structure of collagen protein was discovered by scientist:
(a) C.V.Raman (b) G.N. Ramachandran

(c) J.C.Bose (d)  Aryabhatt

Soll 1 G0 % ®9 H FY I W@ R -

(a) DNA (b) ADP
(c) ATP (d) RNA
Which of the following is known as the energy currency:
(a) DNA (b) ADP

(c) ATP (d) RNA
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60.

N\ A

il TIEH &1 G 91T g & -

(a) RIS (b)  RItheR

(c) Wk gu (d) UWTSTEA
Protein component of Holoenzyme is known as:

(a) Coenzyme (b) Co-factor
(c)  Prosthetic group (d) Apoenzyme
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